Parts List .«..x:

B 1N FL 4

Model: BCS263SN 18—y Rha—K 523927






HEaTROTHERIZDINT

1. EREDTEX DB

wiEs (BX) - BRES - BBHREW - MEZTHIEZEL,

INTEATIAG (X BI R D HiHE R E ZSRBZEL,

MamlEwnd THRILMIESSR ] Z23ERATIZEL,
AERRITEBRLIZLDEHYFET .
AERIBRDAFELGCEETHIIENHYFET

Fig. DRRIZTDNT

AFAMR=UIZFig XK SRBERTLTHYET . <D XX [FAFAM—D
ELORHELBEZTERLET,

o a ks 0N

X

T 2R I eeeoeeeeeeseseseseseeeseeeseeeeeeeeeeee e 1~2
P2 7 NG = D 3~4
T2 (DE260/98)
RIE7 i A2 Ly el QRERTY B 2 S 5~38
L b B OV s S 9~ 10
5. XN TLA. BRELRU D oo 1~ 12

B, AT B oo eeseenn 13 ~ 14



1. BCS263SN
X K




RHEES | HaES B & 1 &% &
1-1 364353 | BCS263SN 1
1-2 216962 | T UMDY 9H34T 1
1-3 215849 | h'4hUhr 1
1-4 214365 | Y IAUMNAT 93487 1 |56794
1-5 087786 | 6 K97+ VFFK Wb 2 | M5x25
1-6 012487 | E3% 0% 1 | M5
1-7 220390 | ¥ ¥h—RY934T 1 [8~12744
1-8 089852 | 6 Yk ILb 1 | M6x8
1-9 092550 | 6 HYEK Lk (+)SW 1 | M5x25-7T
1-10 212986 | NE/KRA 1
1-11 219195 | nE/K'AB 1
1-12 215610 | 6 H9K Wb WSW 1 | M8x22 t4)
1-13 089737 | 6 YKLk 1 | M5x12
1-14 211736 | £v44=%") B 1
1-15 211737 | WM 2
1-16 236150 | MJA'LiN=934T (24) 1
1-17 236111 | 3~ 1 (37 -T4v=)
1-18 236151 | ARYRMLDAY 1 | 1180L 1/0 54
1-19 234611 | AV —b21-7 1 | 980L
1-20 220549 | F194v-) 1
1-21 236143 | #—L7°L—F 1 | BCS263SN
1-22 220036 | 739347 1 | 23~257494
1-23 220037 | 73T H 1
1-24 011338 | OWuy 1 | P18
1-25 220041 | 41U+ 7b 1
1-26 222669 | 97VFr—A934T 1 |27 ~ 31744
1-27 220203 | 97VFh—ATIA 1
1-28 217659 | ATYUY 1
1-29 055186 | C h'4kin 1 | S12
1-30 016732 | Ch™4hAT 1 | H32
1-31 222670 | 97VFFFLVH 1
1-32 817002 | 6 h9# Lk (+)WSW 4 | M5x20
1-33 222821 | Y AVAVAN =934T 1 | 34794
1-34 092561 | 6 H9H Wb (+)SW 2 | M5x25
1-35 224693 | F¥Y7Y— 10 1




2. BCS263SN
X & (FE®)




HaEs B A B W B

225100 | ¥A479VkS 1

227540 | 4=V7'79b 1

227552 | N7V =R 1

220619 | A7YUY 1 | #6001UU
092578 | 6 hY& Wb (+)SW 3 | M5x10
220212 | &9YUT A 3

219959 | ¥\ %YW 2VEFUb 3 | M6
227550 | AR 1

219959 | I 2 Y N RYEFUE 3 | M6
221669 | t7T 1

227562 | #%IhTY B 2

092580 | 6 KUK Lk (+)WSW 4 | M5x12
225115 | ¥A4N IR A 1

222059 | &YV NN VST 1 | 1516 794
126993 | 6 hHFYk 4 | M5
222142 | FA2%2Y (W 4 | M5x28
084020 | 4% 6 h4FYh 1 | M12x1.25
210400 | LN UNIRA 1




3.BCS263SN T Py
iy S




RHEES | HaES B & & &% &
3-1 859439 | 1YYy 1 | DE260/98
3-2 269140 | Y)u& 1
3-3 282330 | B ASYb 1
3-4 261250 | 6 H97 Y%K ILF WSW 4 | M5x20
3-5 267924 | 4UY1L—4 1
3-6 267049 | B AFYb 1
3-7 269826 | TAIRY ()WSW 2 | M5x25WSW #v4
3-8 284606 | ¥757tV7"Y 1
3-9 280428 | B AFYb 1
3-10 266264 | 291 2 | M5x50 770%°

-11 273548 | F7hN— 1

-12 286349 | J7'R Lk 1

- 269153 | #7097 —-2 1

- 280488 | ATYUY 2 | PPL 6001
- 261386 | #4LY—IL 1

3-1 261492 | #ANY—=I 1

3- 055185 | C h™4hAT 1 | H28

3- 264582 | A9Y)-Y 2

3- 261246 | 6 h97 Y%K L+ WSW 3 | M5x25

3-2 282328 | E'AbY 1

3-21 261496 | E'AMUY 2

3-22 261497 | E'AMIEY 1

3-23 261037 | =—FAATULY 1

3-24 261576 | #—49Yv7° 2

3-25 282323 | 47V9v%70av77)—b 1

3-26 269168 | 479F7tU77) 1 | 27,28 794
3-27 269169 | 479FY1 2

3-28 269173 | A7 vy’ 1

3-29 269647 | 47VFEK Wb 2

3-30 269175 | 79y¥ 2 | 6.1X15X1.6
3-31 261777 | 9I-7"79v% 2

3-32 269880 | 77UhN— 1

3-33 269831 | A1y (+)WSW 2 | M5x20WSW
3-34 280077 | ¥4 27V 1 |35~ 43744
3-35 261356 | A—4% 1

3-36 280078 | 19 =9v3AVa{NTEYT) 1 |37 ~ 43744
3-37 267401 | 34l 1

3-38 267584 | 1—-N434T 1 |39~ 417494
3-39 261074 | 7°39°%vv7’ 1

3-40 261075 | 794 1

3-41 267585 | 1—F 1

3-42 261072 | ¥vv7° 1

3-43 280080 | F1-7 1

3-44 261076 | nUF9%— 1

3-45 261417 | $7%0H 29%+Uk 1 | M8




3.BCS263SN T Py
iy S




RHEES | HaES B & 1 &% &
3-46 280381 | A~ 2

3-47 261256 | 6 h97 Y%K Lk WSW 2 | M4x25
3-48 264652 | AN=97°3Y 1 | CcJ8Y

3-49 267492 | -V 2

3-50 269189 | #'OAYb 1

3-51 264588 | 457" 1

3-52 264634 | AT— 1

3-53 265409 | %Y1 1

3-54 261878 | TYh 1

3-55 269705 | 3NN 1 | 70 a5 %y




4. BCS263SN T oY
JaAIILRA—A




HaEs

B M

(EE

4-16
4-17
4-18
4-19

283476
2834717
283504
283505
283506

280931
267213
283578
283579
261725

283511
283575
285994
269208
265726

283391
282096
280412
273550

YA WRE=4T 17
A3=472077)

)=l

hL7'L—+
8YNARINY

ANATNAT YUY
YbAY2
A-77tv7")
A4—40-7"
A4—=4)7"

A-7°AbI
A4=47=71Y77
77474077

TYb

6 W97 FYFK ILE WSW

A9a
A9)a
7°L—h
NN

W = = = —_— ) —_— )

—_—— N

2~12794
3~ 11794

9~ 11794

M4x16

M4x20
M4x16

BCS263SN

-10-




18

LS

&

>
Z

5.BCS263SN T o
FrILE, A5

20

-11-



RHEES | HaES B & 1 &% &
5-1 280101 | ¥¥7°L47+€077) 1 [2~15744
5-2 263739 | §VIHRTA 1
5-3 262991 | N—=UK T4 1
5-4 262992 | KVU7hN - 1
5-5 261874 | 79347 1
5-6 283905 | #'4%¥77L 1
5-7 262993 | HATYb 1
5-8 262994 | 4'4%77L 1
5-9 282576 | h'A4Yb 1
5-10 267358 | Y 1Yk 1
5-11 261871 | O WUy 1
5— 261876 | vy 1
5— 261658 | A4~ 1
5— 264682 | A%Y1 2
5- 262996 | A%Y1 4
5— 261864 | h'A4Yb 1
5- 264691 | O Yuy 1
5- 266420 | 4Y)—FT7tU7) 1 |19~ 21744
5— 264709 | 4Y—+hn— 1
5- 266433 | H—A7tU7") 1
5-21 264695 | ILAVR 1
5-22 269834 | FA2RY (H)WSW 2 | M5x60WSW
5-23 280438 | 4v9T7t77 1 |24~ 34754
5-24 280356 | 71-I)4YY 1
5-25 281565 | 4v9%Y97°7tu77) 1 | 26794
5-26 269377 | NYEY 1
5-27 261696 | 7')—%"4347 1
5-28 267309 | 71-IWNAT T 1 |29~ 34754
5-29 266955 | N47TEUT) 1 (30~ 32744
5-30 261115 | 4°'0AYb 1
5-31 265469 | 71-InN47 1 | 140L
5-32 263038 | A—nN'70-N47° 1
5-33 264653 | 7ANATEVT7) 1
5-34 261117 | 997’ 1
5-35 280715 | 2411 3 | Méx14
5-36 261117 | 997’ 1
5-37 280398 | 7'7vkay77)—+ 1
5-38 269777 | 71 3
5-39 269778 | AY-7" 3
5-40 269827 | TAI%Y (+)WSW 2 | M5X16
5-41 269830 | FAIRY (H)WSW 2 | M5X30
5-42 281007 | 3A°I 1 | FI-9h4_~4

-12-




6. BCS263SN
T &

-13-



HaEs B A B W B

221460 | K3 Ah'% 1

220534 | hYnhin— 1

210418 | AVE'RYHIAANT 1

022865 | YIAVYFANT 1 | 8x10
219431 | 6 h9KHANT 1 | ZAunn' 3
219432 | 6 hORIANT 1 | ZAunn 4
222173 | AT— 1

211337 | ' )AF1I-7 I 1

220548 | N'UN 2

236147 | M)7Yh4EY A3 1 | BCS263SN

-14-




& X

Q = ULRETR
BHEHRBEXRZEO

fLyR—- b 42— EE 0120-898-114
ZFIFRSRS: AM9:00~PN5:00(X. BH. 1A % <)

EIEREET Printed in japan 2014-09.J




